15.11.2016 4 NINSIN NYPIY ,MPYAN MNAN
Y DY YT DY AN

nhEth)
Vx,y:xy = yx DX $H9aN 719930 DRI G 1NN

T

[a] + [b] = [a+ b] = [b + a] = [b] + [a] >> ,m5ax nMan Z,,

N0 NMND YN 7NN o3 Uy,

nMOH

9959 MY H # ¢ &) G —n nawvmn Y905 oma nnan H ox nmannn vy H € 6
L0299

nhi'h)
.1M2N NN XN NNIAN NN SY NNAVN TIFdN
MmN N Hy <G ,A € AY5v oy

172N NN ﬂ H) N
AEA

,G 12N Y NP NN S ON,NPNTD

.S DN NNV NYYNIPHNND NMNIANH NN N
S = {a}»v nipma yam

Vn € Z: a™ € (a) - v N8 Pn
naRth)

:OYPNNY IO a € G D»P OX HYPIY NN NXIPY G 1NN

G = {a*|k € T}
MNMT

Z, = {0,1,2,3} = (1)
(1,4} = (4) < Us = {1,2,3,4} = (2)

DO NO Uy,
0995 NN

1252 (=11 Oy 0 1O Oy MISN Z OIS Z

.OWUNnD) 1> 5y NIsN N Y YIS Zy,



15.11.2016 4 NINSIN NYPIY ,MPYAN MNAN
Y DY YT DY AN

Lavun

= TNVORY) Zy N Z NN TPONMDN YN 1NN DO

YN
@YY M
al = a
0 _
a 1
an+1 — a-a’
a—n — (an)—l
nla=in]

.G = (a) ,mYp8 nMan G >n
: OMPNY PON)

|G| =00 e
Jm) =a" 9 f:Z = G spNd PN
;1215
f(n+m)=a™Mm =qa"-a™ = f(n) - f(m)
JPNOPNR GO W TN TN DY f,nninn »ad
|Gl=n o
N9 v Y10 s L f([k]) = akoeb f1 7, - G ospno may .G = Z, - v mom
{1,a,a?, -} oror2 Pam .a® = 1- v non.oopanon
¥ YD ,NDOWI NN W D G — W 2on.m = minfi,a’ = 1} : o)
o 1,a,a2,- ,nmnnsey m <oy ,ak k =1e=ak =a -w ik <k’
ANk’ = k(modn) ox,nyo.n = |G| = |{1,-+,a" 1} =m v .mnm
Kk k'—k k'-k

a = an.T = (an)T = 1

NN D TP TN TN, 79PN G35y f



